



ISSN: 0067-2904

On Rad_μ -GP* property

Reham Hadi*, Wasan Khalid

Mathematics Department, Collage of Science, University of Baghdad, Baghdad, Iraq

Received: 21/3/2024

Accepted: 1/8/2024

Published: 30/7/2025

Abstract

Throughout this paper we depend on the concept of μ -small submodule to generalized the Jacobson radical called μ -Radical that lead us to present a generalization of (GP*) property.

Keywords: μ -Radical of X, Rad_μ -GP* property, N- Rad_μ -GP* property.

حول خاصية GP^* لجاكوبسون من النمط μ

ريهام هادي*, وسن خالد

قسم الرياضيات, كلية العلوم, جامعة بغداد, بغداد, العراق

الخلاصة

في هذا البحث سوف نعتمد تعريف المقاسات الجزئية الصغيرة من النمط μ - لأجل اعطاء تعميم لجذر جاكوبسون ونسميه جذر جاكوبسون من النمط μ - وهذا التعميم سوف يقودنا إلى اعطاء تعميم للخاصية من النمط GP^* .

1. Introduction

In this work every module is a unital left R-module, and all rings are associative with the identity element. The sets K and U are submodules of X, where X is an R-module. A submodule U is said to be small submodule of X if whenever $K + U = X$ for some submodule K of X, then $X = K$, indicates that $U \ll X$, see [1]. Let U and W be submodules of X, U is a supplement of W in X if U is minimal with respect to the property $X = U + K$. Equivalently, $X = U + K$ and $U \cap K \ll U$, [1]. The module X is called $\oplus$ -supplemented module if each submodule of X has a supplement of a direct summand of X [2, 3]. There are many generalizations of $\oplus$ -supplemented module were presented, see [4-6].

Many authors generalized small submodule see [7-11]. In [12] it was defined the submodule $Z^*(X)$ as a dual of singular submodule to be the set of all elements x in X such that Rx is a small module. The set $Z^*(X) = \{x \text{ in } X: Rx \ll_\mu E(X)\}$, where $E(X)$ is an injective hull of X. The set X is called cosingular (non-cosingular) module if $Z^*(X) = X$, ($Z^*(X) = 0$). W. Khalid and E. Mustafa presented the notion of μ -small submodules in [7] as a generalization of small submodules. Any submodule U of X that has X/L cosingular whenever $X=U+L$ and $X=L$ is referred to as μ -small submodule of X (denoted by $U \ll_\mu X$). If there is a $L \leq X$ such

* Email: riham.hadi1603a@sc.uobaghdad.edu.iq

that $X = U + L$ and $U \cap L \ll_{\mu} K$, then X is said to be μ -supplemented. If L is a direct summand of X , then X is called a $\oplus_{\mu}$ -supplemented module [13]. If for each submodule U of X , there exists direct summand L of X such that $L \leq U$ and $U/L \ll_{\mu} X/L$, then M is said to be lifting [14].

A module X is called μ -lifting if for each submodule U of X there exists H of U such that $X = H \oplus H'$, where H' in X and $U \cap H' \ll_{\mu} H'$. Equivalently, for each submodule U of X there exists $L \leq^{\oplus} X$ such that $L \leq U$, and $U/L \ll_{\mu} X/L$ [15]. A module X is called has the property (P^*) if for each submodule U of X , $\exists L \leq^{\oplus} X$ such that $L \leq U$ and $U/L \ll (X/L)$, [16]. A module X is said to have property (GP^*) if every $\lambda \in \text{End}_R(X)$ there exists a direct summand H of X such that $H \subseteq \text{Im}(\lambda)$ and $\frac{\text{Im}(\lambda)}{H} \ll \text{Rad}(\frac{X}{H})$, see [17].

According to the property (GP^*) and μ -lifting module we generalize μ -lifting module to be $(R\mu-P^*)$ and $(N-R\mu-GP^*)$ properties. We present a generalization to $\text{Rad}(X)$ called $\text{Rad}_{\mu}(X)$, to define $(R\mu-P^*)$ property. It is evident that the μ -lifting module possesses the property $(R\mu-P^*)$, and each module that possesses this feature is $\text{Rad}_{\mu} - \oplus$ -supplemented.

In our work we learn some information on the properties $(R\mu-GP^*)$ with $(N-R\mu-GP^*)$. We demonstrate that each direct summand of a module with $(R\mu-GP^*)$ has also the property $(R\mu-GP^*)$ by proving various results on these properties.

2. μ -Radical of X :

This section defines and establishes some of the fundamental features of X is μ -maximal submodule and μ -Radical. Among many generalizations of $\text{Rad}(X)$ [18], we present the following:

Definition 2.1: Let X be an R -module and let K be submodule of X , then K is called μ -maximal submodule of X if K is maximal and $Z^*(\frac{X}{K}) = \frac{X}{K}$.

Examples and remarks 2.2:

1- While every μ -maximal is maximal, this is not always the case.

For example, Z_6 as Z_6 -module $\langle \bar{2} \rangle$ is maximal but not μ -maximal since $Z^*(\frac{Z_6}{\langle \bar{2} \rangle}) \cong Z^*(Z_2) = 0 \neq \frac{Z_6}{\langle \bar{2} \rangle}$.

2- If $Z^*(X) = X$, then every maximal is μ -maximal. To show that, let N be maximal and $N \neq X$ and consider the natural epimorphism.

$$f: X \rightarrow \frac{X}{N} \text{ since } f(Z^*(X)) \leq Z^*\left(\frac{X}{N}\right), f(X) = Z^*\left(\frac{X}{N}\right), \text{ but } f(X) = \frac{X}{N}.$$

Then $Z^*\left(\frac{X}{N}\right) = \left(\frac{X}{N}\right)$. Hence, N is μ -maximal.

3- The module Z_4 as Z -module, by (2) $\langle \bar{2} \rangle$ is μ -maximal.

4- The module Z as Z -module: since $Z^*(Z) = Z$, then by (2) for all P prime, $\langle P \rangle$ is maximal if and only if $\langle P \rangle$ is μ -maximal.

5- If 0 is maximal and M is cosingular, then 0 is μ -maximal, by (2).

6- The module Q as Z -module since Q has no maximal. So, by (2) Q has no μ -maximal submodule.

Definition 2.3: If X is an R -module, then the intersection of all of its μ -maximal submodules is known as X is μ -Radical, and it is represented as $(\text{Rad}_{\mu}(X))$. The $\text{Rad}_{\mu}(X) = X$ if there is no μ -maximal submodule for X .

Note: The fact that $\text{Rad}(X) \leq \text{Rad}_{\mu}(X)$, is obvious, but the inverse is typically not the case. The $\text{Rad}_{\mu}(Z_6) = Z_6$ as Z_6 -module, but $\text{Rad}(Z_6) = 0$.

Proposition 2.4: Let X be R -module and $a \in \text{Rad}_{\mu}(X)$ if and only if $Ra \ll_{\mu} X$.

Proof: Let $Ra \ll_{\mu} X$ and suppose that $a \notin \text{Rad}_{\mu}(X)$, then there exists μ -maximal L and $a \notin L$, so $Z^*\left(\frac{X}{L}\right) = \frac{X}{L}$, and $Ra + L = X$. Since $Ra \ll_{\mu} X$, then $X = L$, which is a contradiction. Therefore, $a \in \text{Rad}_{\mu}(M)$.

Conversely, suppose that $a \in \text{Rad}_{\mu}(X)$ and Ra is not μ -small in X .

Let $F = \{N \subset X \text{ such that } Z^*\left(\frac{X}{N}\right) = \frac{X}{N} \text{ and } N + Ra = X\} \neq \emptyset$.

Since Ra is not μ -small in X , then let $\{C_{\alpha}\}_{\alpha \in \Lambda}$ be chain in F . To show that $\bigcup_{\alpha \in \Lambda} C_{\alpha} \in F$, let $C_{\alpha} \in F$, for each $\alpha \in \Lambda$. Since $C_{\alpha} \in F$, then $Z^*\left(\frac{X}{C_{\alpha}}\right) = \frac{X}{C_{\alpha}}$ and $Ra + C_{\alpha} = X$, for all $\alpha \in \Lambda$. Since $Z^*\left(\frac{X}{C}\right) = \left(\frac{X}{C}\right)$, then $Z^*\left(\frac{X}{\bigcup_{\alpha \in \Lambda} C_{\alpha}}\right) = \left(\frac{X}{\bigcup_{\alpha \in \Lambda} C_{\alpha}}\right)$, by [3] and $Ra + \bigcup_{\alpha \in \Lambda} C_{\alpha} = X$. To show $\bigcup_{\alpha \in \Lambda} C_{\alpha} \subsetneq X$, if $\bigcup_{\alpha \in \Lambda} C_{\alpha} = X = Ra + H$, $a \in \bigcup_{\alpha \in \Lambda} C_{\alpha}$ then there exists $\alpha_0 \in \Lambda$ such that $a \in C_{\alpha_0}$, (since $\{C_{\alpha}\}_{\alpha \in \Lambda}$ is chain). Then $Ra \leq C_{\alpha}$ and $Ra + C_{\alpha_0} = C_{\alpha_0} = X$, which is a contradiction, then $\bigcup_{\alpha \in \Lambda} C_{\alpha} \subset F$. By Zorn's Lemma, F has a maximal element say N_0 . Since $N_0 \subset X$ and $Z^*\left(\frac{X}{N_0}\right) = \frac{X}{N_0}$ and $Ra + N_0 = X$. To show N_0 is a maximal submodule suppose that $N_0 \subset N$, then $Ra + N = X$, and since $Z^*\left(\frac{X}{N_0}\right) = \frac{X}{N_0}$, then by [7], we get $Z^*\left(\frac{X}{N}\right) = \frac{X}{N}$, then $N \in F$, a contradiction with the maximality of N_0 , $a \notin N_0$, hence $a \notin \text{Rad}_{\mu}(X)$, and that is a contradiction. Therefore, $Ra \ll_{\mu} X$.

Corollary 2.5: $\text{Rad}_{\mu}(X) = \sum_{A_{\alpha} \ll_{\mu} X} A_{\alpha}$.

Proof: $A_{\alpha} \ll_{\mu} X$, then $\forall \alpha \in A_{\alpha}$, $Ra \ll_{\mu} X$, by Proposition 2.4, $a \in \text{Rad}_{\mu}(X)$, for all $a \in A_{\alpha}$, which leads to $A_{\alpha} \leq \text{Rad}_{\mu}(X)$, then $\sum_{A_{\alpha} \ll_{\mu} X} A_{\alpha} \leq \text{Rad}_{\mu}(X)$.

Conversely, let $a \in \text{Rad}_{\mu}(X)$, then $Ra \ll_{\mu} X$, thus $a \in \sum_{A_{\alpha} \ll_{\mu} X} A_{\alpha}$.

So, $\text{Rad}_{\mu}(X) \leq \sum_{A_{\alpha} \ll_{\mu} X} A_{\alpha}$, hence $\text{Rad}_{\mu}(X) = \sum_{A_{\alpha} \ll_{\mu} X} A_{\alpha}$.

Theorem 2.6:

Let $\Phi: X \rightarrow N$ be an R -homomorphism, then $\Phi(\text{Rad}_{\mu}(X)) \leq \text{Rad}_{\mu}(N)$.

Proof: Let $U \ll_{\mu} X$, then by [7], $\Phi(U) \ll_{\mu} N$, and $\Phi(U) \leq \text{Rad}_{\mu}(N)$, for all $U \ll_{\mu} X$. Therefore, $\Phi(\text{Rad}_{\mu}(X)) \leq \text{Rad}_{\mu}(N)$.

Corollary 2.7:

Let X be any R -module:

- If $C \leq X$, then $\text{Rad}_{\mu}(C) \leq \text{Rad}_{\mu}(X)$.
- Let $\{X_i\}_{i \in I}$ be a family of R -modules, so if $X = \bigoplus_{i \in I} X_i$, then $\text{Rad}_{\mu}(X) = \bigoplus_{i \in I} \text{Rad}_{\mu}(X_i)$, $i \in I$.
- If $X = \bigoplus_{i \in I} X_i$, then $\frac{X}{\text{Rad}_{\mu}(X)} \cong \bigoplus_{i \in I} \frac{X_i}{\text{Rad}_{\mu}(X_i)}$.

Proof:

- Let $i: C \rightarrow X$ be the Inclusion map, then by Corollary 2.5, we have $i(\text{Rad}_{\mu}(C)) \leq \text{Rad}_{\mu}(X)$. Therefore $\text{Rad}_{\mu}(C) \leq \text{Rad}_{\mu}(X)$.

- For all $i \in I$, $X_i \leq X$, by (a) we have $\text{Rad}_{\mu}(X_i) \leq \text{Rad}_{\mu}(X)$, $\forall i \in I$, then (1)

$$\bigoplus_{i \in I} \text{Rad}_{\mu}(X_i) \leq \text{Rad}_{\mu}(X).$$

For all $i \in I$, let $P_i: \bigoplus_{i \in I} X_i \rightarrow X_i$, defined by $P_i(\sum_{i \in I}^n X_i) = X_i$.

Let $x \in \text{Rad}_{\mu}(X)$, then $x = \sum_{i \in I}^n m_i$, $m_i \in X_i$, $m_i \neq 0$ for at most a finite number of $i \in I$. For all $i \in I$, $P_i(x) = P_i(\sum_{i \in I}^n m_i) = m_j$, $P_i(\text{Rad}_{\mu}(X_j)) \leq \text{Rad}_{\mu}(X_j)$, then $m_i \in \text{Rad}_{\mu}(X_i)$, then

$$x = \sum_{i \in I}^n m_i \in \bigoplus_{i \in I} \text{Rad}_{\mu}(X_i).$$

Then,

$$\text{Rad}_\mu(X) \left(\text{Rad}_\mu(X_i) \right). \quad (2)$$

Form (1) and (2) we get $\text{Rad}_\mu(X) = \bigoplus_{i \in I} (\text{Rad}_\mu(X_i))$.

c. Let $\Phi: \frac{X}{\text{Rad}_\mu(X)} \rightarrow \bigoplus_{i \in I} \left(\frac{X_i}{\text{Rad}_\mu(X_i)} \right)$.

Let $\Sigma m_i \in \bigoplus X_i$ with $m_i \in \bigoplus X_i$ be an arbitrary element from X , and define $\Phi(\Sigma m_i) + \text{Rad}_\mu(X) := \Sigma(m_i + \text{Rad}_\mu(X_i)) \in \bigoplus_{i \in I} \left(\frac{X_i}{\text{Rad}_\mu(X_i)} \right)$. To show that Φ is well define:

Let $\Sigma(m_i) + \text{Rad}_\mu(X) := \Sigma(m_i') + \text{Rad}_\mu(X)$ with $m_i, m_i' \in X_i$.

$\Sigma(m_i) - \Sigma(m_i') = \text{Rad}_\mu(X)$, then $\Sigma(m_i - m_i') \in \text{Rad}_\mu(X)$, hence $m_i - m_i' \in \text{Rad}_\mu(X_i)$. It follows that $m_i + \text{Rad}_\mu(X_i) = m_i' + \text{Rad}_\mu(X_i)$, thus $\Sigma(m_i + \text{Rad}_\mu(X)) = \Sigma(m_i' + \text{Rad}_\mu(X_i))$, then Φ is well-define

Now, let $\Sigma(m_i + \text{Rad}_\mu(X)) \in \text{Ker } \Phi$, then $\Phi(\Sigma(m_i + \text{Rad}_\mu(X))) = \Sigma(m_i + \text{Rad}_\mu(X_i)) = 0$, hence $m_i + \text{Rad}_\mu(X_i) = 0, \forall i$.

Then it follows that $m_i \in \text{Rad}_\mu(X_i)$ for all occurring m_i , since $X_i \leq X$. Therefore, $\text{Rad}_\mu(X_i) \leq \text{Rad}_\mu(X)$, we deduce that $\Sigma(m_i) + \text{Rad}_\mu(X) = \text{Rad}_\mu(X)$, hence $\text{ker } \Phi = 0$.

Let $m_i \in X_i$ then $m_i \in \text{Rad}_\mu(X_i)$, then $m_i + \text{Rad}_\mu(X_i) \in \bigoplus_{i \in I} \left(\frac{X_i}{\text{Rad}_\mu(X_i)} \right)$, then $\Sigma(m_i + \text{Rad}_\mu(X_i)) \in \bigoplus_{i \in I} \left(\frac{X_i}{\text{Rad}_\mu(X_i)} \right)$, and since $X = \bigoplus_{i \in I} X_i$, then $\Sigma(m_i) \oplus_{i \in I} X_i = X$, and $\Sigma(m_i) + \text{Rad}_\mu(X) \in \frac{X}{\text{Rad}_\mu(X)}$. Then $\Phi(\Sigma(m_i) + \text{Rad}_\mu(X)) = \Sigma(m_i + \text{Rad}_\mu(X))$.

Remark 2.8:

If X is an R -module and N is a submodule of X , then $\text{Rad}_\mu(N) \leq \text{Rad}_\mu(X) \cap N$.

Proof:

Since $\text{Rad}_\mu(N) \cap N$ and $\text{Rad}_\mu(N) \cap \text{Rad}_\mu(X)$ by Corollary 2.7, then $\text{Rad}_\mu(N) \leq N \cap \text{Rad}_\mu(X)$ and $\text{Rad}_\mu(N) \leq \text{Rad}_\mu(X) \cap N$.

However, the converse of Corollary 2.8 is not true in general, for example, Z_8 as Z -module. The set $\langle \bar{2} \rangle$ is maximal in Z_8 . $\bar{0} \leq \langle \bar{4} \rangle \leq \langle \bar{2} \rangle \leq Z_8$. Since $Z^*(Z_8) = Z_8$, then $\langle \bar{2} \rangle$ is μ -maximal in Z_8 . Also, since $\text{Rad}_\mu(Z_8) = \langle \bar{2} \rangle$ and $\text{Rad}_\mu(\langle \bar{2} \rangle) = \langle \bar{4} \rangle$.

Thus $\text{Rad}_\mu(\langle \bar{2} \rangle) \leq \text{Rad}_\mu(Z_8) \cap \langle \bar{2} \rangle$, but $\text{Rad}_\mu(Z_8) \cap \langle \bar{2} \rangle = \langle \bar{2} \rangle \not\leq \text{Rad}_\mu(\langle \bar{2} \rangle) = \langle \bar{4} \rangle$, then $\text{Rad}_\mu(X) \cap N \not\leq \text{Rad}_\mu(N)$.

Note 2.9: For $N \leq X$, $\text{Rad}_\mu(X) \cap N = \text{Rad}_\mu(N)$, if N is the direct summand of X .

Proof: By Remark 2.8 $\text{Rad}_\mu(N) \leq \text{Rad}_\mu(X) \cap N$.

Conversely, let $w \in \text{Rad}_\mu(X) \cap N$, then $w \in \text{Rad}_\mu(X)$, hence $w = \sum_{i=1}^n a_i$, $a_i \in A_i$, $A_i \ll_\mu X$ and $a_i \ll_\mu X$, thus $Rw = Ra_1 + Ra_2 + \dots + Ra_n$ and $Ra_i \ll_\mu X$, for each $i = 1, 2, \dots, n$, thus $Rw \ll_\mu X$, since N is a direct summand of X , then by [3], $Rw \ll_\mu N$, therefore $Rw \leq \text{Rad}_\mu(N)$ and $w \leq \text{Rad}_\mu(N)$.

Proposition 2.10:

If L and K are submodule of module X , then $\text{Rad}_\mu(L) + \text{Rad}_\mu(K) \leq \text{Rad}_\mu(L + K)$.

Proof:

Demonstrating that $\text{Rad}_\mu(L) \leq \text{Rad}_\mu(L + K)$ is sufficient. Since K is a μ -small submodule of $L + K$ according to [3], $K \leq \text{Rad}_\mu(L + K)$. Let K be a μ -small sub module of X . Thus $\text{Rad}_\mu(K) \leq \text{Rad}_\mu(L + K)$. Similarly, $\text{Rad}_\mu(L) \leq \text{Rad}_\mu(L + K)$, therefore $\text{Rad}_\mu(L) + \text{Rad}_\mu(K) \leq \text{Rad}_\mu(L + K)$.

3. A generalization of modules with the property (GP*)

It is known that X is said to have the property (P^*) if for each submodule U of X , there exists a direct summand K of X such, that $K \leq U$. and $U/K \subseteq \text{Rad}(X/K)$ [16].

Definition 3.1: If for every element λ in $\text{End}_R(X)$, there exists a direct summand, such that $N \subseteq \text{Im}(\lambda)$ with $\frac{\text{Im}(\lambda)}{N} \subseteq \text{Rad}_\mu(\frac{X}{N})$, then the module X has the property $(\text{Rad}_\mu\text{-GP}^*)$.

Remark 3.2: It is evident that each module satisfies $(\text{Rad}_\mu\text{-GP}^*)$ by having the (P^*) property. But generally speaking, the opposite is not true; for example, F can be any field. Take into consideration the direct product of F_i , where $F_i = F$, and the commutative ring R . Therefore, R is not semisimple; rather, it is a regular ring [17]. The property (GP^*) is held by [16]; nevertheless, since $\text{Rad}(X) \subseteq \text{Rad}_\mu(X)$, R as R -module satisfies $(\text{Rad}_\mu\text{-GP}^*)$. The not satisfy (P^*) property.

Proposition 3.3: For a module X , the corresponding conditions are equivalent.

1. The module X has the property $(\text{Rad}_\mu\text{-GP}^*)$;
2. Every $\lambda \in \text{End}_R(X)$ has a decomposition $X = X_1 \oplus X_2$ such that $X_1 \subseteq \text{Im}(\lambda)$ and $X_2 \cap \text{Im}(\lambda) \subseteq \text{Rad}_\mu(X_2)$;
3. The representation of $\text{Im}(\lambda)$ for each $\lambda \in \text{End}_R(X)$ is $\text{Im}(\lambda) = U \oplus U'$, whereas U is the direct sum of X and $U' \subseteq \text{Rad}_\mu(X)$.

Proof: 1) $\rightarrow$ 2) By assumption, if there exists direct summands X_1, X_2 of X such that $X_1 \subseteq \text{Im}(\lambda)$, $X = X_1 \oplus X_2$ and $\frac{\text{Im}(\lambda)}{X_1} \subseteq \text{Rad}_\mu(\frac{X}{X_1})$. Since X_2 is a Rad_μ -supplement of X_1 in X , $\text{Rad}_\mu(\frac{X}{X_1}) = \frac{\text{Rad}_\mu(X) + X_1}{X_1}$. Then $\frac{\text{Im}(\lambda)}{X_1} \subseteq \frac{\text{Rad}_\mu(X) + X_1}{X_1}$. So, we have $\text{Im}(\lambda) \subseteq \text{Rad}_\mu(X_2) + X_1$, and, $X_2 \cap \text{Im}(\lambda) \subseteq \text{Rad}_\mu(X_2)$.

2) $\rightarrow$ 3) For every $\lambda \in \text{End}_R(X)$, there exists a decomposition $X = X_1 \oplus X_2$ such that $X_1 \subseteq \text{Im}(\lambda)$ and $X_2 \cap \text{Im}(\lambda) \subseteq \text{Rad}_\mu(X_2)$. So, $\text{Im}(\lambda) = X_1 \oplus (\text{Im}(\lambda) \cap X_2)$, by the modular law. Say $U = X_1$ in addition that $U' = \text{Im}(\lambda) \cap X_2$. Therefore, $\text{Im}(\lambda) = U \oplus U'$, where U is a direct summand of X and $U' \subseteq \text{Rad}_\mu(X)$.

3) $\rightarrow$ 1) Given X the assumption states that for any λ in $\text{End}_R(X)$, $\text{Im}(\lambda) = U \oplus U'$, where U is the direct summand of X and U' is a subset of $\text{Rad}_\mu(X)$. Therefore, U is absolutely greater than $\text{Im}(\lambda)$ since it is a direct summand of X . As a result, we may write it as $\frac{\text{Im}(\lambda)}{U} = \frac{U \oplus U'}{U} \subseteq \frac{U + \text{Rad}_\mu(X)}{U} \subseteq \text{Rad}_\mu(\frac{X}{U})$.

Definition 3.4: The property $(N - \text{Rad}_\mu\text{-GP}^*)$ applies to a module X if, for any homomorphism $\lambda: X \rightarrow N$, then there exists a direct summand L of N , such that $\frac{\text{Im}(\lambda)}{L} \subseteq \text{Rad}_\mu(\frac{N}{L})$ with $L \subseteq \text{Im}(\lambda)$.

It is evident that if and only if X possesses the property $(X - \text{Rad}_\mu\text{-GP}^*)$, then X has the property $(\text{Rad}_\mu\text{-GP}^*)$.

Remember that if a submodule N of X lacks a valid submodule K such that $K \subset N$, then N is said to be μ -coclosed in X . The module X is μ -coclosed in all direct summands, as is evident [14].

Theorem 3.5: Given two R -modules X and U . The module X possesses the property $(U - \text{Rad}_\mu\text{-GP}^*)$. If and only if X' has the property $(U' - \text{Rad}_\mu\text{-GP}^*)$, for each direct summand X' and a μ -coclosed submodule U' of U .

Proof: $(\Rightarrow)$ For each $e^2 = e \in \text{End}_R(X)$, let U' be a μ -coclosed submodule of U , and let $X' = eX$. Presume that $\text{Hom}(X', U') \in \alpha$. $U = U_1 \oplus U_2$ can be decomposed so that $U_1 \subseteq \text{Im}(\alpha(e))$ and $U_2 \cap \text{Im}(\alpha(e)) \subseteq \text{Rad}_\mu(X_2) \subseteq \text{Rad}_\mu(U)$, since $\alpha(eX) = \alpha(X') \subseteq U' \subseteq U$ and X satisfies the

condition $(U - \text{Rad}_\mu - \text{GP}^*)$. The modular law therefore, gives us $U' = U_1 \oplus (U_2 \cap U')$. $\text{Rad}_\mu(U') = \text{Rad}_\mu(U) \cap U'$ by [4], where U' is a μ -coclosed sub module of U . Therefore, $U_2 \cap U' \cap \text{Im}(\alpha) \subseteq \text{Rad}_\mu(U_2 \cap U')$ is what we obtain. Hence, X' possesses the property $(U' - \text{Rad}_\mu - \text{GP}^*)$.
 $(\Leftarrow)$ Clear

Corollary 3.6: For a module X , the following criteria are equivalent.

- 1- The module X has the property $(\text{Rad}_\mu - \text{GP}^*)$;
- 2- For each a direct summand L of X owns the property $(U - \text{Rad}_\mu - \text{GP}^*)$ for any a μ -coclosed sub module U of X .

Corollary 3.7:

It is true that all direct summands of modules with the property $(\text{Rad}_\mu - \text{GP}^*)$ also have this property.

Proposition 3.8: An indecomposable module X is defined here. Suppose for any δ in $\text{End}_R(X)$, the fact that $\text{Im}(\delta) \subseteq \text{Rad}_\mu(X)$ means that $\delta = 0$. The property $(\text{Rad}_\mu - \text{GP}^*)$ is applicable to X if and only if each non-zero endomorphism $\delta \in \text{End}_R(X)$ is an epimorphism.

Proof. Let $0 \neq \delta \in \text{End}_R(X)$. Since X has the property $(\text{Rad}_\mu - \text{GP}^*)$, there exists a decomposition $X = X_1 \oplus X_2$ with $X_1 \subseteq \text{Im}(\delta)$ and $X_2 \cap \text{Im}(\delta) \subseteq \text{Rad}_\mu(X_2)$. Since X is indecomposable, $X_1 = 0$ or $X_1 = X$. If $X_1 = 0$, then $\text{Im}(\delta) \subseteq \text{Rad}_\mu(X)$. By assumption $\delta = 0$; which is a contradiction. Thus, $X_1 = X$ and hence δ is epimorphism.

The opposite is clear.

Remember that if there is an isomorphism for each surjective endomorphism of module X , then that module is said to be Hopfian [18, 19].

Proposition 3.9: Consider X as a Noetherian module with the following property: $(\text{Rad}_\mu - \text{GP}^*)$. $\text{Im}(\lambda) \subseteq \text{Rad}_\mu(X)$ means that $\lambda = 0$ if every endomorphism λ of X exists. Thereafter, $X = X_1 \oplus X_2 \oplus \dots \oplus X_n$ has a decomposition, where X_i is an indecomposable noetherian module with the condition $(\text{Rad}_\mu - \text{GP}^*)$, and $\text{End}_R(X_i)$ is a division ring for it.

Proof: X has a finite decomposition of Noetherian direct summands since it is a Noetherian. All direct summand has the property $(\text{Rad}_\mu - \text{GP}^*)$, by Corollary 3.7, and every decomposable direct summand has a division ring by [16] because every Noetherian module is Hopfian, by [20].

4. Conclusions

We confirm the following outcomes:

1. While every μ -maximal is maximal
2. If $Z^*(X) = X$, then every maximal is μ -maximal.
3. Let $\Phi: X \rightarrow N$ be an R -homomorphism, then $\Phi(\text{Rad}_\mu(X)) \subseteq \text{Rad}_\mu(N)$.
4. If X is an R -module and N is a submodule of X , then $\text{Rad}_\mu(N) \subseteq \text{Rad}_\mu(X) \cap N$.
5. For $N \leq X$, $\text{Rad}_\mu(X) \cap N = \text{Rad}_\mu(N)$, if N is the direct summand of X .

Conflict of Interest

The authors declare that they have no conflicts of interest.

References

- [1] F. Kasch, *Modules and rings*. Academic press, 1982.
- [2] B. Ungor and S. Halicioglu, *On a class of $\oplus$ -supplemented modules*. American Mathematical Society Providence, RI, 2014.

- [3] A. Harmanci, D. Keskin, and P. F. Smith, "On ϕ -supplemented Modules," *Acta Mathematica Hungarica*, vol. 83, no. 1, pp. 161-169, 1999.
- [4] T. Amoozegar and Y. Talebi, "A Generalization of $\hat{\alpha}$ -Supplemented Modules," *European Journal of Pure and Applied Mathematics*, vol. 5, no. 2, pp. 108-115, 05/14 2012.
- [5] S. Özdemir, "F-supplemented modules," *Algebra and Discrete Mathematics*, vol. 30, no. 1, pp. 83-96, 2020.
- [6] F. YUZBASI ERYILMAZ and S. E. EREN, "Generalization of $\oplus$ - δ -supplemented modules," *International Journal of Algebra*, vol. 6, no. 27, pp. 1303-1308, 2012.
- [7] W. Khalid and E. Kamil, "On a generalization of small submodules," *Sci.Int.*, pp. 359-365, 2018.
- [8] I. M. A. Hadi and S. H. Aidi, "On e-Small Submodules," *Ibn AL-Haitham Journal For Pure and Applied Sciences*, vol. 28, no. 3, pp. 214-222, 2017.
- [9] H. Çalışıcı and E. Türkmen, "Generalized $\oplus$ -supplemented modules," *Algebra and Discrete Mathematics*, vol. 10, no. 2, pp. 10-18, 2010.
- [10] S. M. Yaseen, "Generalization of T-small submodules," *Italian Journal of Pure and Applied Mathematics*, no. 42, pp. 766-774, 2019.
- [11] A. T. Hamad and A. A. Elewi, "Z-Small Submodules and Z-Hollow Modules," *Iraqi Journal of Science*, vol. 62, no. 8, pp. 2708-2713, 2021.
- [12] A. Çiğdem Özcan, "MODULES WITH SMALL CYCLIC SUBMODULES IN THEIR INJECTIVE HULLS," *Communications in Algebra*, vol. 30, no. 4, pp. 1575-1589, 2002.
- [13] Y. Wang and N. Ding, "Generalized supplemented modules," *Taiwanese Journal of Mathematics*, vol. 10, no. 6, pp. 1589-1601, 2006.
- [14] K. Ahmed and N. S. A. Mothafar, "Pure-Hollow Modules and Pure-Lifting Modules," *Iraqi Journal of Science*, vol. 65, no. 3, pp. 1571-1577, 2024.
- [15] J. Clark, C. Lomp, N. Vanaja, and R. Wisbauer, *Lifting modules: supplements and projectivity in module theory*. Springer Science & Business Media, 2008.
- [16] N. B. Türkmen, "A generalization of modules with the property (P*)," *Mathematica Moravica*, vol. 21, no. 1, pp. 87-94, 2017.
- [17] F. W. Anderson and K. R. Fuller, *Rings and categories of modules*. Springer Science & Business Media, 1992.
- [18] S. Deo and K. Varadarajan, "Hopfian and co-Hopfian groups," *Bulletin of the Australian Mathematical Society*, vol. 56, no. 1, pp. 17-24, 1997.
- [19] Y. Gang and L. Zhong-kui, "On hopfian and co-hopfian modules," *Vietnam J. Math*, vol. 35, no. 1, pp. 73-80, 2007.
- [20] T.-Y. Lam, *Lectures on modules and rings*. Springer Science & Business Media, 2012.